
Math F���: Section �.�a Worksheet Spring ����

�. Justify
lim
x→�

x� − �x + �
x − � = �

using the “Limits don’t care about one point” rule.

�. Compute

lim
h→�

√
� + h − �

h
using the “Limits don’t care about one point” rule. Hint: Multiply top and bottom by√
� + h + � early in the computation.
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Math F���: Section �.�a Worksheet Spring ����

�. Suppose f (x) = x �� − �
x �

a) Why is � not in the domain of f (x)?

b) Sketch the graph of f (x).

c) Compute limx→� f (x).

�

Yo is not defined

since Xfl - I)= x- I except at x --O

y
-
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jksoxfttx) -- Hugo x- I = - l
-
limits don't care !


